7. a)
pvV -p= True
8pvqg— True
npVg—>(p—>q—>p)

b)
i) TV(f) ={(F,F)}
i) K =(-s1V-s2)A(s1Vas2)A(=s1Vs2)
8.
glzr)~vzeFE @) xwnf(zr)eE @)
a a
rwnf(r)eE Erg(z)~z Evraxw~f(z)
-~ @ ——————(,0={z~a}) (i, 0 ={z ~a})
E+ax~f(x) ) E+g(a)~a Eranf(a) ©
P _ (s
Eraw~a ) Erf(zx)~x E+g(a) ~f(a) ®
Erh(a,f(z),g(a)) » h(a, z,f(a))
9. a) G=({S,B},{a,b}, R,S) mit den Regeln R:
S—aS|bB
B—aB|0S|e
b) S = bS = bSb = baa
10. Losung.
//xg =22 =T
while x1 £0 do z1 =21 - 1; z2:= 29— 1 end;
// w3=0
while 23 # 0 do x3:= 23 -1 end;
// x3#0 setzen falls xo # 0
while 29 # 0 do x3:= 3+ 1 end
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